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50, will be treated as malpractice.

t(h_c 'your answers, compulsorily draw diagonal cross lines o(

2. Any revealing of identification,

Important Note : 1. On comple

appeal to evaluator and /or equations written eg, 42+8
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Second Semester MBA Degree Exammathg ?June/J uly 2019
Legal and Business Envi gonment

. &W
Time: 3 hrs. Max. Marks:100
Note: 1. Answer any FOUR full questlons from QI to Q7.
2. Question No.8 is compuls 'ry
1 a. What is contract? ‘ » (03 Marks)
b. What are the modes of creation of agenhy? ‘ b " (07 Marks)
c. All contracts agreement all agreem%nt are not contracts. . (10 Marks)
L A N
2 a. Define a company. Ny A Mm (03 Marks)
b. State and explain the documcl;g%;equlred by a company. “_ (07 Marks)
c. What are the roles and responsﬂmhtles of an Auditor? ¢ (10 Marks)
3 a. Define Prospectus Y (03 Marks)
b. (07 Marks)
C. (10 Marks)
m% k.
4 a. Define Busmegs Environment. b= (03 Marks)
b. What are th&ghases of Business Cycle‘? " (07 Marks)
c. What ar“@? the components of GDP?4. N . ) (10 Marks)
E e ¥
5 a. Deﬁne Tndustrial policy. W% : (03 Marks)
b. What are the problems faced by SSI‘? (07 Marks)
c. What are the role of mdq%tnes in Indian econom (10 Marks)
6 a. Define Fiscal policy. - R P (03 Marks)
b. What are the tools of €redit control? ¢ "= %@uﬁm (07 Marks)
c. What are the functmms of RBI?  , *,” o (10 Marks)
%&w o W >
7 a. Define momentﬁry policy ) AL (03 Marks)
b. What are the objective of IndldifmF orelgn Trade? .~ (07 Marks)
c. Whatare the silent features 6f Forelgn Trade? ) (10 Marks)
v L %3’,,‘, i

8 CASE STUDY :
ey, India, the mﬂatlon rate on measured by the wholesale price Index around 6 — 6 . 8%
well above the leva@:‘”bf 5 — 5. 5% that would have been acceptable to RBI. In the past the
.~ main cause of hrgﬁk‘mﬂatlon used to the'rises in global oil prices. However in early 2017 the
chief componentw of the inflation=was the increase in the prices food articles—caused by
increased ds Ihand as well as supply‘constraints. According to analyste the increased demand
was due to high economic growth and increased money supply, with stagnant agricultural
product1v1ty was behind- «%the supply constraints. Gol together with RBI took several
measures to control 1nﬂaf:‘i"@%e For example the RBI increase CRR, Repo rates in an effort to
check money supply. The Gol reduced import duties on several good products and cuts the

prices of diesel and pgtrol
Questions :
a. What factors cqw%se - hindrance to the growth on Indian economy? (10 Marks)
b. What measures were taken by the Gol and RBI to control inflection? (10 Marks)
L 4
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